
MSP-A039-V01

Soccer Goal   
EXIT Scala 300x200

*
*
*

*

3

4

76

5

Detachable Hooks 12pcs

N1

H1

H2

M8x25MM Screw 44pcs

C1 C2

C3

8X40MM Screw/Metal Washer 4sets

5 mm Hexagon Wrench 1pc

S2 S3

S4

T1

T2
4 mm Hexagon Wrench 1pc

1

2

Hooks 90pcs

S1

Metal Washer 44pcs Plastic Washer 44pcs

Grey 72.30.20.00 1x
Black 72.30.20.00 1x
White 72.30.20.20 1x

Grey 72.95.03.00 2x
Black 72.30.20.19 2x
White 72.30.20.29 2x

Grey 72.95.01.00 4x
Black 72.30.20.18 4x
White 72.30.20.28 4x

Grey 72.30.20.07 2x
Black 72.30.20.17 2x
White 72.30.20.27 2x

Grey 72.30.20.06 2x
Black 72.30.20.16 2x
White 72.30.20.26 2x

Grey 72.30.20.05 2x
Black 72.30.20.15 2x
White 72.30.20.25 2x

Grey 72.30.20.04 2x
Black 72.30.20.14 2x
White 72.30.20.24 2x

Grey 72.30.20.03 2x
Black 72.30.20.11 2x
White 72.30.20.21 2x

Grey 72.30.20.02 4x
Black 72.30.20.12 4x
White 72.30.20.22 4x

Grey 72.30.20.01 2x
Black 72.30.20.11 2x
White 72.30.20.21 2x

Diam-60mm Length-1490mm

Diam-60mm Length-960mm

Diam-60mm Length-1490mm

Diam-60mm Length-1310mm Diam-38mm Length-605mm

Diam-38mm Length-964mm Diam-38mm Length-1107mm

Grey 72.90.30.20 1x
Black 72.90.30.20 1x
White 72.90.30.20 1x

Grey 72.50.22.00 4x
Black 72.50.22.00 4x
White 72.50.22.00 4x

* XX.XX.XX.XX

XXXXXXXXXxxx

*
*

*
*
*



EXIT Scala 300x200

*
*
*

*

3

4

76

5

Detachable Hooks 12pcs

N1

H1

H2

M8x25MM Screw 44pcs

C1 C2

C3

8X40MM Screw/Metal Washer 4sets

5 mm Hexagon Wrench 1pc

S2 S3

S4

T1

T2
4 mm Hexagon Wrench 1pc

1

2

Hooks 90pcs

S1

Metal Washer 44pcs Plastic Washer 44pcs

Grey 72.30.20.00 1x
Black 72.30.20.00 1x
White 72.30.20.20 1x

Grey 72.95.03.00 2x
Black 72.30.20.19 2x
White 72.30.20.29 2x

Grey 72.95.01.00 4x
Black 72.30.20.18 4x
White 72.30.20.28 4x

Grey 72.30.20.07 2x
Black 72.30.20.17 2x
White 72.30.20.27 2x

Grey 72.30.20.06 2x
Black 72.30.20.16 2x
White 72.30.20.26 2x

Grey 72.30.20.05 2x
Black 72.30.20.15 2x
White 72.30.20.25 2x

Grey 72.30.20.04 2x
Black 72.30.20.14 2x
White 72.30.20.24 2x

Grey 72.30.20.03 2x
Black 72.30.20.11 2x
White 72.30.20.21 2x

Grey 72.30.20.02 4x
Black 72.30.20.12 4x
White 72.30.20.22 4x

Grey 72.30.20.01 2x
Black 72.30.20.11 2x
White 72.30.20.21 2x

Diam-60mm Length-1490mm

Diam-60mm Length-960mm

Diam-60mm Length-1490mm

Diam-60mm Length-1310mm Diam-38mm Length-605mm

Diam-38mm Length-964mm Diam-38mm Length-1107mm

Grey 72.90.30.20 1x
Black 72.90.30.20 1x
White 72.90.30.20 1x

Grey 72.50.22.00 4x
Black 72.50.22.00 4x
White 72.50.22.00 4x

* XX.XX.XX.XX

XXXXXXXXXxxx

*
*

*
*
*

1MSP-A039-V01



*
*
*

*

3

4

76

5

Detachable Hooks 12pcs

N1

H1

H2

M8x25MM Screw 44pcs

C1 C2

C3

8X40MM Screw/Metal Washer 4sets

5 mm Hexagon Wrench 1pc

S2 S3

S4

T1

T2
4 mm Hexagon Wrench 1pc

1

2

Hooks 90pcs

S1

Metal Washer 44pcs Plastic Washer 44pcs

Grey 72.30.20.00 1x
Black 72.30.20.00 1x
White 72.30.20.20 1x

Grey 72.95.03.00 2x
Black 72.30.20.19 2x
White 72.30.20.29 2x

Grey 72.95.01.00 4x
Black 72.30.20.18 4x
White 72.30.20.28 4x

Grey 72.30.20.07 2x
Black 72.30.20.17 2x
White 72.30.20.27 2x

Grey 72.30.20.06 2x
Black 72.30.20.16 2x
White 72.30.20.26 2x

Grey 72.30.20.05 2x
Black 72.30.20.15 2x
White 72.30.20.25 2x

Grey 72.30.20.04 2x
Black 72.30.20.14 2x
White 72.30.20.24 2x

Grey 72.30.20.03 2x
Black 72.30.20.11 2x
White 72.30.20.21 2x

Grey 72.30.20.02 4x
Black 72.30.20.12 4x
White 72.30.20.22 4x

Grey 72.30.20.01 2x
Black 72.30.20.11 2x
White 72.30.20.21 2x

Diam-60mm Length-1490mm

Diam-60mm Length-960mm

Diam-60mm Length-1490mm

Diam-60mm Length-1310mm Diam-38mm Length-605mm

Diam-38mm Length-964mm Diam-38mm Length-1107mm

Grey 72.90.30.20 1x
Black 72.90.30.20 1x
White 72.90.30.20 1x

Grey 72.50.22.00 4x
Black 72.50.22.00 4x
White 72.50.22.00 4x

* XX.XX.XX.XX

XXXXXXXXXxxx

*
*

*
*
*

2MSP-A039-V01

Soccer Goal
        EXIT Scala 300x200



~14
CM

3

4

1

2H1

H111 x

H17 x

H111 x

H19 x

1

1

2

2

3

3

4

4

C1

C1

C1C3

C3
C2

C2

C2

C1

2

2

C2

5

5

6

6

7

7

3MSP-A039-V01



1

1C2
S2

S1
S3

1

1

C1

C1

1

1

2

2

C1

C1

C3

C3

2

2

S2

S1
S3C1

1

2
!

2

2

C2

S1

C3

2 S1

2

2

C3

C2

4MSP-A039-V01

Soccer Goal
        EXIT Scala 300x200



C13

S1

3

3
C2S1

3

3

C1

C1

C2

3

3
4

4

C1

C1

C1
3

4
S1 !

5MSP-A039-V01



1

1

2

2

C1

C1

C3

C3

2

2

3

3

4

4

C1

C1

2

4

C3

S1

S4 S4
5

6 7

S1

S1
S1

S1

C1

C1

C1
C3

C1

C3

5

6

7

5

6

7

6MSP-A039-V01

Soccer Goal
        EXIT Scala 300x200



H2

H2

H2

N1
H1

H1

7MSP-A039-V01



!

EN

DE

NL

FR

DA

8MSP-A039-V01

Soccer Goal
        EXIT Scala 300x200



~70CM

~70CM

~100CM

~100CM

9MSP-A039-V01



Drilling: D12 mm x H40mm Suck out debris

~70CM

~70CM

~100CM

~100CM

10MSP-A039-V01

Soccer Goal
        EXIT Scala 300x200



M8x12MM 4pcs

M6x20MM 12pcs M6 Metal Washer 12set

M8 Plastic Washer 4pcs
Extra

S1 S2

S3 S4

S1

S1
S2

S2

S3

S4

S2

S2

S1

S1
S2

S2
S1

S1

25
KG

11MSP-A039-V01



~5CM

~5CM

12MSP-A039-V01

Soccer Goal
        EXIT Scala 300x200



13MSP-A039-V01



14MSP-A039-V01

Soccer Goal
        EXIT Scala 300x200



42.30.20.00/
42.30.20.10/42.30.20.20


